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CHILD DEVELOPMENT AND PEDAGOGY / arer fispret & fvear s1eet

Directions : Answer the following questions
(Q. Nos. 1 to 30) by selecting the correct/most
appropriate options.

1‘

3.

To understand individual differences

in development it is important

(1) to look at the environmental
factors that affect individuals.

(2) to consider maturation of the body

. and the brain. , _
(3) to consider both inherited
characteristics as well as

environmental factors and their
interplay. . .
(4) to look at the inherited
characteristics that give each
person a special start in life.

~ Which of the following is not a

principle of development ?
(1) Development is relatively orderly.
(2) Development takes place
gradually over a period of time.
(3) Exact course and nature of
- development is determined at the
time of birth itself.

(4 Individuals develop at different

» rates.
Several research studies show that

‘ teachers have more overall interaction

with boys than girls. What is the
correct explanation for this ?

(1) Boys need more attention than
girls.
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What instructional adaptations should g

- teacher make while working with

students who are ‘Visually Challenged’ ?

(1) Use a variety of visual
presentations.
(2) Orient herself so that the students

can watch her closely.
Focus on a variety of written tasks
especially worksheets.

3
“

touch and feel materials.

Co-operative learning and peer-

tutoring in an inclusive
classroom.
(1) should be actively discouraged

)
3)
@

should be occasionally used
should not be used
should be actively promoted

Which of the following is most
important in an inclusive classroom ?

(1) Standardized testing

(2) Promoting competitive learning
(3) Individualized education plan

(4) Uniform instruction

Which of the following is a correctly
matched pair of learners and their

primary characteristics ?

(1) ‘Dyslexic’ learners — Lack reading .
- and writing fluency

(2) Creative learners — Hyperactive;

slow in completing work

ain gttenuon

Speak clearly and use a lot of
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10.

11.

Which of the following would not be
consistent with a constructivist
environment ?

(1) Students work collaboratively and
are given support to engage in
task-oriented dialogue with each
other. ,

(2) Teachers elicit students’ ideas and
experiences in relationship to key
topics and plant teaching-learning

to elaborate or restructure their_

current knowledge.

(3) Teachers employ specific end of
the term assessment strategies and
give feedback on products rather
than processes. S

(4) Students are
opportunities  to
complex, meaningful,
based activities.

given frequent
engage in
problem-

A teacher should encourage students

to set rather than

(1) performance goals; learning goals -

2) failure avoiding goals; marks
seeking goals 9
(3) marks seeking
avoxdmg goals

godls; failure

carr ning goals; pgtformance goals

@
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13.

- 14,

15.

)

(3) . Uniform and standardized testing

Which of these is an example of
extrinsic motivation ?
(1) “T learn so much when I do my
homework.”
(2) “Doing homework makes me
understand my concepts better,”
(3 “I complete my homework
because the teacher gives us marks
for each assignment.”
-4 T enjoy doing my homework
because it is so much fun.”
.In a primary classroom a teacher
should :
(1)  give only non-examples
(2) give both examples and non-
examples
(3) not give any examples and non-
examples

@

"give only examples

Which of the following strategios'

would promote meaning-making in
children ?

- Transmission of information
Using punitive measures

% Ez@plorauon and discussion
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17.

18.

D

In the constructivist frameé child is

viewed as

(1) ‘tabula rasa’ or ‘blank slate’

whose life is shaped entirely DY

experience. ;

a ‘passive being’ who can be
shaped and molded into any form
through conditioning. '

3) a
‘scientific investigator’.

@

‘problem  solver’ and 2

‘miniature adult’ who is less than
adult in all aspects such as size,
cognition, emotions. ‘

@

A teacher’s role while using co-

operative learning in her class -

is to leave the class and let

children work on their own.

(2) is to be supportive and monitor
~ each group.

is to supportAthe group which has

the ‘bright’ and ‘talented’

children.

is to be a silent spectator and let

- children do what they want.

L s i j

’s errors and misconceptions -

3

(6)
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20.

21,

22,

According to  Piaget, specific
psychological structures (organized

ways of making sense of experience) -

are called
1)
(2)
3)
4)

schemes
images
mental maps

mental tools

“With an appropriate question /
suggestion, the child’s understanding
can be extended far beyond the point
which she could have reached alone.”
Which construct does the above
statement highlight ?

1
(€3]
3
4)

Equilibration
Conservation
Intelligence -

Zone of proximal development

According to Lev Vygotsky, bas:c mental
capacities are transformed into higher
cognitive processes primarily through

O8N
()

social mteractlo_n
stimulus-response association
F adaptation and organization
rewa is and punishment

7
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25.

26.

- 27.

@

‘both men and women

One of the major accomplishments of
concrete operational stage is
(1

Ability to conserve

(2) Hypothetic - deductive reasoning
(3)  Secondary circular reactions
(4)  Animistic thinking

Constructivists such as Jean Piaget
and Lev Vygotsky view learning as
(1

conditioning of responses

(2) passive repetitive process -

(3) process of meaning-making by
active engagement
acquisition of skills

Selecting and presenting stories and
clippings from newspaper that portray
in non-

~ traditional roles is an effective
~ strategy to
(1) promote gender constancy
(2) encourage stereotypicai gender
roles
3) counter gender stereotypes
(4) promote gender bias

Read the following description and
identify the stage of moral reasoning
of Kohlberg. - :

scription :
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28.

As per Howard Gardner’s theory of
multiple intelligence, how would the
intelligence of a person with the
following characteristics

: be
categorized ?
Characteristics :
“Ability to detect and respond
appropriately to the moods,
temperaments,  motivations  ang,

intentions of others.”

" (1) Intrapersonal

29,

(2) Interpersonal
(3) Therapeutic
(4) Naturalistic

Which of the following should be the
reasons for assessment of children ?

(i) To separate and label children
into  ‘non-achievers’, ‘low-
achievers’, ‘average’ and ‘high-
achievers’.

(i) To improve teaching-learning

processes in the classroom.

To find out what changes and

progress in learning that takes

place in the child over a period

of time. ' 7

To discuss the capabilities,

potential, strengths . and

(i)

(@iv)

challenging areas of the child
with the parents.
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P-II

IMPORTANT : Cand:dates have to do questions
31 to 90 EITHER from Part - 1I (Mathematics
and Science) OR from Part - 111 Social Studies /
Social Science).

———————
(T 7 frry ar v - 11 T /
arfor ) @ v & 1

, PART - II/ WY - II
MATHEMATICS AND SCIENCE / TTfote & fas=t

Directions : Answer the following questions by
selecting the correct/most appropriate options.

31. The total surface area of a cuboid is
194 m? If its length is 8 m and
breadth is 6 m, then what is its volume
(in m?) ?

(1) 126
(2) 168
3) 224
@4 112

The area of a trapezium is 105 cm?
and its height is 7 cm. If one of the
parallel sides is longer than the other
by 6 cm, then the length of the Ionger
side, in cm, is

(1) ‘16

32.

@ 15 5 ey &
W 12 s : I

©)) 18

The curved surface area of a right
~ circular cylinder of base radius 3 cm
The volume (m cm’) of the
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M.

35.

36.

If x is added to each of 14, 12, 34 and
30, the numbers so obtained, in this
order, are in proportion. What is the

valueof\IIZx+9?
®n 9
@ 11
3 13
4 8

Which one of the following statements
is true ?

(1) A regular polygon of 10 sides has
10 lines of symmetry.
2 A circle has no line of symmetry.
(3) An angle has two lines of
symmetry.
@ A regular hexagon has only 4

lines of symmetry.

The value of x which satisfies the
equation

10(x +6) + 8(x-3)=5(5x - 4)

also satisfies the equation

(1) 3@x-5)=2x+1

(2 2x+3)=5(x-5)+ 4

(3) 5(x-5=2(x-3)+ 5

4) S5x-3)=x+5

(11)

ElgE
El
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39.

Which of the following statements 15
correct regarding children coming to
school from rural areas in the context
of Mathematics ?

(1) They may have rich oral
mathematical  traditions ~ and
knowledge.

(2) They do not know any
mathematics. :

(3) They have poor communication
skills in mathematics.

(4) They need not learn formal

mathematics as it is of no use to
them. ’

Read the following statements :

A. Axioms aré propositions which
are assumed.

B. Axioms are special theorems.

C. Axioms are definitions.
D. Axioms, when proved becomes
theorems.

Which of the following statement(s) is
correct ? '

(12)
38.
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45.

E)

3

The role of proportional reasoning in
understanding the concept related o

Zoltan Dienes
Jean Piaget
Lev Vygotsky
Van Hiele

M
@

“)

. = A student is not able to solve those
involve -

word problems which
transposition in algebra. The best
remedial strategy is to
(1) give lot of practise questions of
word problems in  another
language.
explain him/her word problem in
simple language.
explain concept of equality using
. alternate method.

give lot of practise questions on
transposition of numbers.

@

“)

Contemporary understanding‘ of

- Mathematics Pedagogy ' encourages

e T

teachers. to do all of the following,
except

(1) Introduce  computation  of
~ problems before development of
conceptual understanding.
(2) Create opportunities for students
- to guess-and-verify- the solutions
' to problems.
(3) Develop the skill- of systematnc
 reasoning in students.
[Encourage the ability to
. appmxnmate soluuons

ratio and proportion was highligbted by

(15)
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50.

The value of

[(~4) + 2] X (=3) = (=3) [(-3) X ("7) 8].

+(4) [(- 48) + 6]

is

I -1
@) 13
(3 -16
@4 9

44 33 22 24
The fractions —g. 29° 38 25 0 nd 5q are

written in descending order as

G RAUBM
25° 29’38 49

44 22 33 24
@ 29353829

3) 44 33 24 22
49 3829’ 25

2433 22 44
@ 29382549

Which one of the following statements
is not true for integers ?

(1) Division is commutative.
@) 1is the multiplicative identity.

Subtraction is not commutative,

(16)

48.

49,

50.

R

() + 21 (-3) - D (D X (7)o
+ (4) [(- 48) + 6]

w1 HAA R
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(2) 13
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4 9
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12,24 33 44
(1) 35°29°38 49

, 4422 33 24
) 39253829

4433 24 22
(®) 19382925

@ 29'38°25 49
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51, Ifx=22x3x5x7
y=22x3x5*x7 and
z=2x3 x5 %7,

then HL.C.F. of x, y and z s

) (152 % 7*

2 (30P¥x7

(3) 30x7°

@ (302 x 73

52272 =p*x ¢® x 14,

~ where p, q and r are prime numbers,
then the value of 2p + q =r) is

1y 22
2y 23
3) 29
4 21

If the 7-digit number 134x58y is
e - divisible by 72, then the value of
' (2x +y)is

7

17)

sll

52.

M x=2x3Fx5x7
y=2x3x54x7 qur
z=2‘x34$<52x75 :

§,ﬁx,yﬁtzﬂwm%

(1 (15°x7*

2 (G0*x7

(3) 30x7

4) (302x7

afe 52272 = p? x ¢° x;“,

wel p, 3 ¢ T Fed &,
2p+q-r)FARE

(1 22

2y 23

3) 29

4 21

IR 7-oit aTEh FE 134x58y, 72 ¥
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S6.

57.

Which of the following is not a
Pythagorean triplet ?

(1) 8,15,17

(2) 11,60, 63

(3) 13, 84,85

4 7,24,25

The measure of an angle for which the
measure of the supplement is four
times the measure of the complement
is

(1) 45°

2) 60°

@) . 75°

4 30°

If the angles, in degrees, of a triangle

are x, 3x + 20 and 6x, the triangle

must be

(1) Acute

(2) Right
(3) Isosceles
(4) Obtuse

In triangles ABC and DEF, £C = £F,
AC=DF,and BC=EF.IfAB=2x-1
and DE = 5x - 4, then the value of x is .

Sy 2

(18)

54,

5S.

56.

57.

P-II
e w8k e B TE 2

(1) 8,15,17

(2) 11,60,63

(3) 13,84,85

4) 7,24,25

39 0 5 7, s S A B
¥y % W % = A % TR &, F
?:

(1) 45°

@) 60°

@) 75°

@ 30°
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58.

S

59.

60'

o=

One side of a triangle i‘sv 5 ¢cm and the
other side is 10 cm and its perimeter is
P cm, where P is an integer. The least

and the greatest possible values of p

are respectively
20 and 28
21 and 29
22 and 27
19 and 29

)
©))
“4)

Let x be the median of the data

13, 8, 15, 14, 17, 9, 14, 16, 13, 17, 14,
15, 16, 15, 14. :

If 8 is replaced by 18, then the median

of tl_le data is y. What is the sum of the
values of x and y ?

(1 28

2 29

3) 30

@4 27

A bag contains 3 white, 2 blue and 5
red balls. One ball is drawn at

random from the bag. What is the
~ probability that the ball drawn is not

red ?

(19)

l 58.

60'

ﬁsmﬂawﬁwamummm
w10 cm &, 3R ¥5H IRAT P cm 2,

et P & T B | P % _aw 3
SARraw G TH S §

1) - 20 37T 28

@) 21329

3) 223R27

) 193R29

T 6 aAtwet 13, 8, 15, 14, 17, 9, 14,
16, 13, 17, 14, 15, 16, 15, 14 =1 WTEAH x
2 | 7Rt 8 % =W W 18 % & Sy, @
SAtrel 1 AF y R | x T y & WHI A
IMER?

(1) 28

2 29

3) 30

4 27

el 9o § 3 wike, 2 fieft 3k 5 7= W
§ 199 & @ 35 & g Feemett St
& | Frewrett 7 g et o1 < 7 R, Tt
TR R ?




' i P11
X (20)
Directions : Answer the following questions by 1. R : Praffaa w0 # I & & ’%q
selectmg the correct/most appropriate options. ;rg‘}/ym}aqgﬁ 7‘3’6&?7 g1
61. Which of the following nutrients are 61. gl Prafufea #a & e 4 & 7
present in milk ? - (1) S, fyafE-C, fefE-A
. . . ) 1 i .
(1) Protein, Vitamin C, V!tar(r:ll_l;ron | e e, ffie-C, IR ()
(2) Carbohydrates, Vitamin C, i @31) feTfE-D
(3)  Protein, Iron, Vitamin D i 3) WM, A (AR,
(4)  Protein, Calcium, Vitamin D 4) S, e, fefim-D
62. The non-metal used in the purple 62. W (ﬂm‘ﬁaﬁ) ¥ w1 # a?‘é!;:
coloured solution apphed on wounds T A TR S W ferera
as antiseptic is | Mg EARR 7 ‘
(1) Iodine (1) IEEE
(2) Bromine ) S
(3) Sulphur (3) TR
(4) Chlorine @) i
63. Which of the folloﬁing statements 63. 1Y% HeY H i fem W W wA
regarding ‘Air’ is incorrect ? -agiqg’f% ?
(1) Airis not present in'soil. '(1) Wﬁq@gqf@mqg’f@ﬁ I
(2)  Air plays important role in water 2) v % 3 EiR & W ,@m
cycle. ey
: ’(3) Afr OQCUPI?S space. El 3) T ﬁl?ﬁ ‘2 I
(4) Air has weight. (el
| ' i (4) TEH AR |
64. Which of the following represents ! 64. W AT ﬁq TN qeE 95 % 3Fﬁ 3k
correct matching ((:)l'l_ the nga:ll: l:f g | W B # Ru T % w5 #1 A ﬁ!ﬂ
digestive system in Column A with the T R T R 5 !
function in Column B ? _ ! ‘ wR
Column A ColumnB % A ~ wWWB
| Whmmtem | i - a TR L S e
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65.

66.

67.

Which of the following statement
about cells is true ?

(1) Cells of a tissue have similar
structure.,

(2) Size of cells is same in a well |
organized organism.,

(3)  All the cells have nucleus.

(4)  Allcells are round in shape,

Which of the following are correctly

matched with  their mode of
reproduction ?

A B
a. Yeast i.  vegetative

| propagation

b. Potato ii. spore formation
c. Algae iii. fragmentation
d. Fungi iv. budding

a b c d
(). i iii i v
A s R | R
(3) iii ii iv i
4) iv i iii ii

Which of the following pollutants are
responsible for depletion of ozone

layer ? :
(1) Chlorofluoro carbons.
(2) Acid rain

1ane and-carbon dioxide
de an ‘carbon

=l 1

(21)

[l

65. ﬁﬁm%mﬁﬂammmt ?

66.

67.

ot Tk Y PIH GHH B F |
frdt weft uify =afem s &
FIRTHF T AH (A1) THE
B2 |

mft Fiftea § FE a2 |
o TS B ST e E

(1)
2

(3)
4)

X

Prferias & e 3 9 1 R @

i e R T 2 2
A
a, Y=

b.

B
i FIYE v
i, ooy FEEY
(st 5FF)
c. Tae TUSH '
d. %95 iv. dPpeA
a b ¢ d
() i i i v
() it it GENE
(3) i i iv i

i,

@ v i i
frafaRea # & |9 w1/ vgus SEH
WA vEd & e swerdt /€ ¢
(1) TARFGIHR e

(2) FA=fgest

(3) W 3R FHTEA SHATFATES

(4) HTEA STEATHATES ST HTaA HHI-




70.

“TL e
AP

Which one of the following is not true
of the nature of science ?

A. Science is always ‘tentative.'
B.  Science promotes scepticism.

C. Science is a process of

constructing knowledge.

D. Science is static in nature.

(1) B
2 C
s A
4 D
Which of the following is/are

developed by Science ?
A. Equity
B. Scientific attitude

- C.  Scientific temper

D. Static mind set

(1) - B,CandD
(2) A,BandC
(3) CandD
@

AandD

- Therole of a science teacher should be

@2)

a TrLms TS TR T

69.

70.

71.

P-Il

Freferfae & @ o o T 6 PR S
vl dwdi T 22

A g e serER R |

B. e GieaTs B wgmE el 8 |

D. fmm vk

1) B |

2y™.C

3) A

4) D

fraferfeaa # & fopeent e fiew %
FUEE R ?

A, Tosaggan

B. 3w g

C. e @Y

D. W

(1) B,C3RD

(2) ABIRC

3) csﬂtp

(4) A3WD

w o fiws & g -@m iR
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72.

73.

@

As per NCF-2005, good science
education should be ;

A. True to the learner

B. True to the environment of the
learner

C. True to the teacher

D. . True to science

(1) BandConly

(2 A,BandC

(3 Donly

(4) A,BandD

“Conducting a survey on the

awareness of people about sources of
air pollution in learners localities.”
Which of the following cognitive
process will be most associated with
the above learning objective having
action verb conducting ? N

(1) Understanding

(2) Creating

(3 Applying
vl?emembel’ing

(23)

72.

73.

¢y

X

@qmmsasm.@m

A, €@ A & i a=h @t = e |

B. @A 9@ % wiaw % wfq w=h
B ik

c. T % wfe w=ht €t =rfee |

p. fm% et adt =i

(1) BIRCHFA 4

2 AB3IRC

(3) D%ad

@) A,B3WD

g & I B % @I H g TG F
Hidt # IIEHA B FS H GERH
s
fr=fafigs § @ S @ damIS SfsRaT
IR HE % ILFd A Lwitena (HATHh
FOER A A gEd o wefa
qrft ¢

(1) WYHET |

O T |

ST AT |

ATE T |

)
©)
“)



75.

76' :

77.

By which of the following strategy

meaningful clarification on the

concept of reflection of light can be
given ?

(1) Chart showing the reflection of
light. :

(2) Observing reflection of light on
white paper screen by the learners
and drawing conclusions.

(3) Asking closed ended questions
related to the concept.

- (4) Animated video on the concept.

Why are field visits important in
science ? ‘

(1) 1Itis easy to conduct.

~(2) It collects the information of

science.

(3) It develops habit of hardwork
among learners.

4) It provides hands on experiences
to the learners. :

Which of the following tool is for
learner centered assessment ?

A. Portfolio
B. Concept mapping
C. Paper-pencil test

76.

77.

P 3 @ Fa gfdkn 3 G A &
RIadT @ dewedT B e
femsnawad ?

(3) e ameTR @E ST Al A
@) weege i YRS e

T i e syoror et R & 2
(1) 5o e A E |
@2) 78 s o T SRE HT R |

(3) 9g €@ a1t # HgAq hl 3ed H
. RemwEe |

4) T8 AW Y Y HE F b FINT

YeH LT 2. |
o & @ =l w1 we TTe e e
Hfee?
A,  OEEIfEN
B.  HSYROT qEfE
C. U-Ufde wdeor

D. A forE
A,B3RD
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79.

- 80.

81.

Amrita is trying to set-up an electric
circuit. She runs short of connecting
wires. Which of the following
materials can she use to complete the
circuit ?

(1) steel wire
(2) glassrod
(3) rubber pipe
(4) thick thread

Identify the correct statement.

(1) A concave mirror forms an erect
as well as inverted image.
(2) A convex mirror always forms an
- inverted image.
(3) A convex mirror forms erect as
well as inverted image.
(4) A concave mirror always forms an

erect image.

Which of the following acids is found
in ant’s sting ?

Formic acid

(25)

———— a——

79.

80.

81.

e

s 1§ g wfww sEféa w0 w7
T @ R | 6 T i wen i
ddrorer ar TE1 & | ofoy & g wA &
foru = = few T wgrt & @ fre ww
YT BT THA B 7

(1) HWIdH
(2) HEAHTZ
(3) TS HITRT
(4) wergmm

Hﬁmaﬁmﬁq

argae edu Eun gfafam o &=

2 3t 3erey wfafera fi ATaT 2 |

) Iqd gdu Hed € I iefers
AR |

(3) I gdw He sfar i e
3R 3ere gfefers oft ST 2 |

(4) orEe gdu weg # Hun wfata
TR |

4 % G (I%) 3 Pt § & @
1 3 B ?

(1) i I

(2) FTFafes =T

() wHifes s |

X
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85.

Myra cycles to a friend’s house 5 km
away to deliver a packet. She goes ata
speed of 12 km/hour and returns at a
speed of 8 km/h. Her average speed

during the whole trip is -
(1) 9.6km/h

(2) 10km/h

(3) Sm/s

(4) 20km/h

Which of the following sets contains
only the units of measuring distance ?

(1) cubit, year, light year
(2) cubit, metre, light year
(3) metre, hertz, cubit

(4) metre, light year, hertz

Sameer rolls his marble on three
different surfaces spread out on floor —
taut cellophane sheet, carpet and

newspaper. The force of friction

acting on the marble in the increasing

order is ‘ '

(1) Newspaper, Carpet, Cellophane
sheet 0=

(2) Cellophane sheet, Newspaper,

: Carpet :

(3) Cellophane sheet,
Newspaper

(4) Newspaper, Cellophane sheet,
Carpet : ' :

Carpet,

| noving linearly wﬁh a
time s

83.

84.

85.

86.

P-1I

A R ke @ age & TS km

30 W I wRelt % TR AR S
STt 2 | 77 o @9 12 km/h, T
et & 3R ehed @wa 8 km/h, ST H
et 2 | s www I A e
e B

(1) 9.6 km/h

2) 10 km/h

(3)  5m/s

@) 20 km/h

frefafea 4 @ fre ag=a # $90 g
HIY & AT & 7 :

(1) s, oY, SeRreEy

) wferea, e, THEE
(3) e, &, S
@) X, TFEEy, T

i T R () ) v e R A
fafrt qet (wal) - o+ft g€ S e,
el 3N THER-T T gehial & | 3
W TR e T80 96 §ed hH A g
TR BT 7

(1) THER-TH, ST, S e

2) S 3iE, FEER-vE, FEE

@) et e, FTelH, TR
(@) ETER-T, At e, He

%% five Wewa: Peelt wwamm 3 @

e & | AR o 9 X -a1 w Frefa

i s
\. -I'
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87.

89

Which of the following is not a
byproduct of petroleum ?

(1) Coke

(2) Bitumen

(3) Lubricating oil
(4) Paraffin wax

Aman keeps a plastic bottle, a wooden
spoon and a metallic spoon in a closed

room  overnight. The room

“temperature is 30 °C. In the morning

he records the temperatures of the
three objects as T,, T, and T,. Which

of the following most likely represents
the relation between them ?

@) LT > T,

‘@ T=T,<T,

3 T, >T,>T,
@ T =T,=T,

Which of the following orgamsms can
thelr

own t‘ood by

27

87.

880

89.
~
7} :

X
e § @ A AR 1 Id
TR ? ‘
(1) HH
2 T
(3) e adt

(@) e H

a Tt o W § ©h wnfes i
Heret, Th TS I T 3R TH U1 H
T T TG R | FF A9 30°C R |
guE B W 98 W dFl awga % W
e FE@ B SN T, T, 3T, € |
ﬁﬁﬁmﬁ%ﬁmmmanﬁmﬁ%
ﬁmwﬁa@ﬁmﬁmmmﬁwﬁi

g»

OE R
@ . T, =T,<T,
@ TS T,
@ T,=T,=T,

frefefes Sfiet § @ < yHw-vww
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P-1I

IMPORTANT : Candidates have to do
Question Nos. 31 to 90 EITHER from Part -
Il (Mathematics and Science) OR from
Part - III (Social Studies / Social Science).

REwvf ; alentor 7 g 4G 31 #POIZ'
@ W . [ fore @ frE) @ AT
(W7 sreararr / @reTfora 1aaT) david |

. PART - III / 97T - [I ,
SOCIAL STUDIES / SOCIAL SCIENCE (Wfar sresa / areifores famr)

Directions : Answer the following questions by
selecting the correct/most appropriate options.

'31.  Assertion (A) : It will be 7:30 p.m. in
India, when it is 2:00 p.m. in London.
Reason (R) : India is located east of
Greenwich at 82°30’E. '
Select the correct option from the
given alternatives.

(1)  (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R)
is the correct explanation of (A).
Both (A) and (R) are true, but (R)
is not a correct explanation of (A).
(A) is true, but (R) is false.

3

“)

Consider the statements A, B, C on time
- zone and choose the correct answer :
Some countries have a great
longitudinal extent and so they .
adopted more than
standard time.
'B.  The earth has been divided into

32.

one

four time zones of onme

-

l
|

ﬁaﬂ:ﬁqﬁlﬁﬂﬁmﬁ%ﬁia%m
w /e 39T forped T |

SR (A) : o wie F ATTE F 2:00
T, o wreer 3 7:30 RIS B T B |
HR (R) : WA Ffa= o ga o 82° 30' Y,
ifemgl .
fu Ty et % ¥ wd foehed @@
Cdifkm)

(1) (A)TEAR, TG R)FEE |

2)  (A) 3R (R) EF @&l & 31 (R) &
ST 2 (A) i |

(A) 3 (R) TFT wdl €, 9 (R)
T T R (A) R
@ (A)FHE, WG R)TAAE |

g 89 7 Ru A, B 3R C %eFl |
firar i 3t wdt wot =1 =9 R :

31.

3)

32.

A.

$B 391 1 ey faer ot
g & R o a2t ws @ aifte
T TR SR T § |

ﬁiﬁ‘!‘ﬁ-@ﬁﬁiaﬁum
gt & afermn |



33. Choosehthe’ correct arrangement of
atmosphere’s layers beginn;
earth’s surface : g fip 2 from
(1) Troposphere, Stratosphere,
- Mesosphere, Thermosphere,
Exosphere '
(2) Exosphere, Stratosphere,
Mesosphere, Troposphére,
* Thermosphere. - '
(3) Mesosphere, Troposphere,
: Exosphere, Stratosphere,
Thermosphere
(4) Stratosphere, Mesosphere,
Thermosphere, Exosphere,
~ Troposphere. pit
34. Seasons occur due to which of the

following reasons ? ,

(1) Tropic of Capricorn receives
direct rays of the sun, falling

~ vertically at 231%° S.

2

inclination of its axis in the same

direction.

Circle of illumination caused due to

rotation of the earth around:its axis.

Axis of the Earth makes an angle

of 66v2° with its orbital plane.

3

)

osphere by percentage is

Revolution of the Earth and

‘major constituents of earth’s

(29)

33,

34.

. 35,

120 e

X
oAt 1 wdE & L& W TGS I Rl
¥ Tl FH T TG HIT :

(1) evHed, WS, HEHed,
T aTgHee, Sfeded |

(2) dfedes, wWaHEd, WeaHsd,

(3) HW, m, m’

_ FHATIHET , STel SES |

(4) @UAEUSW, HeWSd, W
ITHed, Sfedsd, dvHSe | |
st Prfifea wroi & & feg Fro @
AN E ?

(1) we Y wogd & e R
23V° €. WIS & |
2) q%aﬁwqmwaﬂt@ﬁﬁmﬁ

3T A& T T BT |
(3) gﬁzﬁ%mﬁmwmsé-ﬁétgph%'
HRO AHSA TR |
@ g % e N wEE wae §
66Y5° 1 IV ST € |
st ¥ orgER gt F Agew § B
1 IYE TIH & 7 |

(1) hIeH SRS
(2) TTEGSH
(3)
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X : : (30) R
37. The depositional feature of a glacier is 37. m%ﬁmaﬁmm :
s () feie
(1) Moraine | ) et
g IL‘“SS (3) e
evees
: 4
(4) Seacave @ WW
| et & &
38. Statements A and B describe the 38. wYq A 3B ﬁﬂﬁlmmt :
features of which of the following fraeh) Rdwenadl 1 avi
vegetations ? A R Sl sad MNed & 3=
A. This vegetation is found in the | TR (50° 0°)ﬁql'§5"?ht |
higher latitudes (50° - 70°) of
e # |
Northern Hemisphere. B. T3 & Am @ i 9
B. Itis also called as Taiga. (1) Sfresor Uit o
(1) Temperate Deciduous Forests. @ w =
(2) Coniferous Forests. ﬁ
(3) Mediterranean Vegetation. - (3) wmEd e
(4) Temperate Grasslands. (4) ST STERE
39, Which of the following is not a feature 39, fafeafga & @ =99 @ ﬁn-.wga =
of the Ganga-Brahmaputra Basin ? Eim EARCHEG ﬁt ?
(1) The density of population of plain ) e 8w wEem e oR
area is very high. s g |
(2) The delta area is covered with R
Mangrove forests. . (3) ‘Ifif ?ﬁéﬁﬂ | :;;?ﬁa 2
(3) Slash and Burn agriculture is _ 16 By = el 3R
. ~ practiced in this area for land T FIY H AR |
~ cultivation. : @ et & olww @) @IEB (=M
S (4) Ox-Bow lakes dot the plain area. her) fafea € |
i amqamﬁatmt aﬁﬁ;
()




p-II
41.

&)
@

Consider the statements A and p

about land use and choose the corréct :

answer :
A. _Land use refers to use of land
exclusively for agriculture and
.forestry.
B. Land use- fs : primai'ily
determined by its topography.
(1) Ais false and B is true,
(2) Both A and B are true.
Both A and B are false.

A is true and B is false.

Shelter belts help in :

(1) Retaining soil moisture.

k ;_Slowing down the flow of water

(31)

41.

. 42,

el

X

@m#mi&A:;ﬂtBMﬁm
far iR 3 a1 = HR |

A i I A W F e
sk F Il

B, Wy WM FE: AUl WS
¥ o fuifa g | ~
ATemE s B aER |
AR B TEE |
Aﬁkﬁaﬁwi‘l

(€Y)
()
3
4) ATHRIRNBTEEE |

T AT GG HAT & ¢

1) Hed e |

() TE % IR A I H TIE B e
FEH |

) mﬁﬁmmﬁ




X
44. On the basis of their distribution,
4 resources can be classified as :
(1) Renewable and Non-renewable
resources
(2) Biotic and Abiotic resources
(3) Ubiquitous  and Localised

resources

'(4)  Actual and Potential resources

45. Which of the following statements
about a ‘diverse society’ is correct ?

(1) It would have differences in
culture and power.

(2) It would have similarities of

‘ lénguage, religion and culture.

(3) It would have differences and
similarities in language culture
and rellglon

(4) It would have differences and

inequalities in language, religion
and culture.

46. Which of the following statements
challenges gender stereotypes ?
1) Women are fashion conscious.

(32)

44.

- 45,

46'

@) Wfﬁaﬁvgamaﬂsﬁmi |

P-I1
R % smgR W dETA B T
e o e & ¢ |
(1) i gETe S ST
e
) ﬁaumuqaﬂtaﬁawm
3) AT TTEA A TR ST
(4) et TETg 3R ETS HET
e g 3 wed 3 P wo
AP R ?
(1) ﬁﬁﬁa@ﬁaﬁtwﬁﬁﬁﬂmﬂ
et &1 |
@) frad s, o R Ewpfa #
QT Bl & |
@) fmd s, d@pfa ik @ #

ferfivrard 3R T uTs Sl 8 |
4) 9% wuw Rwed wmr, ud sk
wﬁﬁﬁﬁmﬁaﬁ:m
1S ST & |
Frefefen et & & 9w i (Srev)
wewa o i Ak 7

(1) it B o e § |
(2) e e o e 2 E |
(3) TR AT - ) e Bt # |
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3

Which of the following statements
about Jatakas is correct ?

(1) These were bomposed by ordinary

people, written down and

preserved by Jaina monks.

(2) These were composed by

Buddhist monks, written down'

and preserved by ordinary people.

These were composed by Jaina

monks, written down and

preserved by ordinary people.

)

These were composed by ordinary

people, written .down and

preserved by Buddhist monks.

Which of the following _statements

about Ain-i-Akbari is correct ?

A %'b;g';j"s ancestors

X0
n

(33)

| I
s, et ¥ R & Frefefm et & 9
w7
) =Bt TEA WA W G i T
oft, 8 S Ty grr ferar w0
271 3T Teheld TSRl T |
@) v T o gt g A
oft, R amr=r @i gra feran T
3 3T dehar fepam T |
(3) Y T S ATy gr i o,
3IThT Gehord o TR |
4) T T GHT SR R Sl g
oft, e siig fregai grar foran
SR BT o R T |
49. ER-Frell ¥ e Prefrfen e
AR ¢

() T T ¥ gl ofk s %
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50. Who among the following compiled
the compositions of Baba Guru Nanak

in Gurumukhi, also adding his own

compositions to it ?

(1) Guru Angad

(2) Guru Arjan

(3) Guru Teg Bahadur
(4) Guru Gobind Singh

51. Which of the fbllowing was not a
feature to Athenian democracy ?

1

All citizens were expected to
serve in army and navy.

All  the citizens attended
- assemblies that were held for
deciding upon matters.

@

@)

Appointment for many positions

were made through lottery.
All the free men and women

(C))

recognised as full citizens.

52. Which of the following was

Nl udragupta’s policy specifically

above 30 years of age were

(G4

- 50,

31.

52.

P-I1
frefere 7 & Fra ot St =t of
Tl 3 G R 7
(1) TG
(2) TEIEH
(3) TR
4) TR g

Yfifem wiemda ot frefafed d § 99
ot ue e 7 ot ?

(1) wft quRest B @ F e |
37t Famd 3 el off |

wme % faoil & fore emafa it
¢ welt # wft Irie SufRm
B

w4 wai T gt Wit & wem
et off |

30 & 31fireh 3w % 39 it e o
afenatt i qof ey of,
e T |

)

©)

@

T 6 Frafafen § 3 @99 o o
Hfer ot <0t fafdre w9 @ <oy et
(1) %N R e e
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53.

Match the following :
(Art form) (Nomenclature)
* a. Art technique that i. Picturesque

54,

following East India Company’s
trading posts ?

 enabled making of
images that looked
real. :
b. Painting showing ii. Portraiture
Indian landscape as
‘quaint, unexplored

land

‘c. Paintings displaying iii. History
lavish lifestyles, Painting
wealth & status of
Europeans in India.

d. Paintings depicting iv. Oil Painting
scenes from British
imperial history &
victories.

a b come

@ i ivo i
2 i i iv i
8 ii iii v
4) iv i i iii
In the late 18" century, the

presidencies of Bombay, Madras and
Bengal developed from which of the

Nagpur, Madurai, Delhi
: s, Calcutta

@35)
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57.

~(B) While in Mahalwari,

Consider the statements (A) and (B)
about Mahalwari and Ryotwari system
of revenues and choose the correct answer.
(A) The Mahalwari was devised for
North-Western provinces of
Bengal presidency, while the
Ryotwari was devised for
British territories in South.
village
headman collected and paid
revenue of the whole village to
the company, in Ryotwari direct
settlements was made with

cultivators.
(1) Only (B) corectly explains
differences between the two

revenue systems.

(2) Both (A) and (B) correctly explain

differences between the two
- Tevenue systems.

(3) Neither (A) nor (B) correctly
explain differences between the
two revenue systems.

4) Only (A) comectly explains
differences between the two
revenue systems.

A tomb of a Sufi saint is known as :

(1) Idgah (2 Gulfaroshan
~.(3) Dargah (4) Khangah
The doctrine of Vishishtadvaita was
propounded in eleventh century by :
(1) Basavanna (2) Eknath
(3  Sakhubai (4) Ramanuja

s (A) and (B) on

(36)
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A Social Sclence teacher should aim

rowards : 61, T TR R S/ S
(1) Building perspective ﬁqaﬂmmw?ﬂ; ;
() Syllabus completion ) S n%:ﬁﬂ I
3) Passing the examinations ) o trot ks
() Rote memorisation ol . ¥ '
4) HEHHE ]
¢ Which of the following approaches 62 amE 3 zﬁ:ﬂﬁﬁ; Sfem it 11ga-
have been considered while developing : freferad
social and political life textbooks ?p . T’aﬁ = e EF!'\:T b
A. Learning through use of -mmﬁﬁﬁﬁiﬁ = lglil : |5||11!11t"
~ concrete  examples  and A S ST qu ST @ W
experiences. | -
'B. Learning through retention 5 wﬁﬂmwm
based on facts and data. (1) Ha@B
M On:;’:i A4 (2 ASRBEH L
2 Bo. AN 3) A 3B H A I3 TE
(3) Neither A nor B
@4) Only A ) |
63, Which of the following is true about- 63. Fraferfea et il
Social Science ? by ﬁana;'qﬁﬁa'é’r% A
A Memorising information il A SEEW W SR w2 @
" lead to conceptual de‘:°'°1":‘°“ts | ST T g 8 |
B The status of a ‘fact’ is alWays  L.q B, o wwREls ARt |
i  fixed. | Bl (1) @B -
| A 3B QAT 5 fa
Aaﬂtaﬁﬁaﬁéﬂif '
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- 67.

What is the main purpose of an Open-
Book Evaluation ?

(1)  Teachers need not undergo extra
pressure to frame new questions.

(2) Students need not -read extra
books.

(3). Students can answer exactly
according to the textbook.

(4) Students need not feel the burden

to rote memorise all facts and
details.

Which of the following would be the
best closure tasks after the teaching of
the theme ‘The Making of Regional
Cultures’ ?

A.  Small group projects

B.  Dance performance by an expert .

C.  Quiz competition

D. Collage making

(1) A,B,D

(2) ACD

3 B,CD

4 A,B,C

Imagine you have inherited a

kingdom. How would you make your
kingdom stable and prosperous ?

In context of the above question, as a
teacher which skill would you
emphasise upon while assessing the
students ? :

(1)  Ability to analyse.

(38)
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70.

.

While teaching controversial issues in
Social Science class, you should :
(1) Take them up occassionally and
conduct brief discussions.
Take them up with proper
‘planning to initiate a dignified
discussion.
Keep in mind  students’
_ background and discuss only non-
hurtful aspects.
Completely avoid confrontations.

2
®3)

“4)

The teaching of social and political life
should focus on : :

A. Study of Political Institutions.

B. Study of Basic Principles.

(1) OnlyB (2) Both Aand B
(3) Neither AnorB (4) Only A

While planning a small group activity
with students, which of the following
should be emphasised ?

A. To create a challenging task.

B. To teach students to work
together. :

C. To select groups thoughtfully.

D. Completion of task. 4

(1) ABD 2) ACD

3 B,CD (4) A,B,C

Which of the following statements are

* true about the study of Social Science ?
A

Helps in systemic analysis of

e,

vill grow up and find

(39)
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=75,

76.

7.

Which of the following sources would
be wrong to use if you have to
introduce Ancient Indian History ?

(1) Miniature Paintings
(2) Inscriptions

(3) Manuscripts

(4) Cave paintings

Which of the following can a Social
Science teacher critically address

while  discussing the  theme,

‘Advertisement’ ?

A. Appeal to the personal
emotions.

B.  Issues of equality.

(1) OnlyB (2) Neither A nor B

(3) BothAandB (4) Only A

‘Discuss few more reasons that are
responsible for changes in land use
pattern.’

In context of the above question, as a
Social Science teacher you would be

. assessing students’ skill of :

)
3)

Generalising  (2) Inferring
Hypothesising (4) Classifying

To familiarise students with the
theme, ‘Natural Vegetation and

- Wildlife’, which would be the best
~ pedagogical method ? -

Visit to a wildlife sanctuary.
vi expert for a lecture.

(40
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Consider statements A ang B
practice of apartheid :

A. It discriminates between ra
but allowed all the right to votcee i

on the

(3 B,CandD 4) AandB

X

-3 1 won @ R e A S B
foram if -
e i e S

B. Itprevents mingling of races py E%::g&ﬁq? 'ﬁ Hd iﬁ t Jrgufa
gives equitable public facilitie B. g g1 el I UHh-ge & frem
g | AR, T R e

Choose the correct option ; o mm wA

(1) Only B is true. Tt Freped 1 997 HIT :

(2) Both A and B are true. (1) FI@BEEE |

(3) Both A and B are false. (2) A 3B A T8l g1

(4) Only A is true. (3) A3MNBIHITEATE |

(4) HTAATEE | |

Who among the following occupies m ¥ ¥ B U™ G=Ed A T

elected office in a Gram Panchayat ? i # s e e € 7 :

A. Sarpanch it

B. Ward Members P

C. Secretary B. 'mé%m

D. Gram Sabha Member S

Choose the correct option : 2 ﬁgﬂ‘m mﬁﬁn{ ;

(1) AandC (2) A,BandC Bl '

(1) - AIRC (2) A,B3RC
3) B,C3RD (4 AS3NRB

Which of the following work is the - . Tr=fafea wl § @ weard / dwae w5
responsibility of a ‘Patwari’ ? . AR SR ?
(1) Executing employment 'schemes 1) sft forsr 3 v 3 S
. fo; land deve.lopmentc.l . Jc - :
: venti ' isputes ik I %
i g::setril:;igng cl:zrrltcllplaintsl? g 2 m $i BIRRESEIN] % g
(3) Measuring land and keeping records. ‘{ﬁ gatfi faEme =1 ﬂm |
(4) Construction and maintenance of ‘ (3) v AT 3R e s gl e |
. common property. (4) m‘@ﬁmﬁﬂm s @-w@e |

=
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84.

(42)

Consider List - A and List - B.

List -~ A has different types of rural

emp!oyment '

List - B has. different kinds of loans

taken.
List - A

a. Agricultural i.

List-B
Health and off-
season consumption
Fertiliser,
Seeds
Government loan for

agro-processing

worker
b. Large ii. Pesticide,
farmer
c. Middle i,
farmer
plant
Match items of List — A with List - B,
based on most likely reason for loans :

a b c

(1) il i iii

@ i i i
(3)- iii i ii

@ i i i ' o

Which of the following forms the
trading arrangement between a
weaver and a merchant under the

“Putting out” system ? Choose the

- correct option.

@

Yarn is sold to the weaver by the
| merchani; and weaver makes cloth
for self-consumption. -
Yam is supplied by the merchant to the
weaver 'and cloth produced is bought

83.

- 84.
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85.

86.

- ‘r!

Consider the statements A ¢, E 43)

form jumbled links in a chain of market,

wherein ‘Ketchup’ reaches a consumer,

A. Sona orders ketchup from a
neighbourhood shop.

B. Farmer buys tomato seeds from
a local trader.

C. Wholesale merchant bids for
tomatoes in the vegetable mandi.

D. A small city based food
processing unit buys tomatoes.

E. Marketing ' company supplies
ketchup to stores.

Choose the option that represents the

correct sequence in the chain of

market :

() B,D,E,.C,A (2)

3) A,B,D,C,E (4)

C,B,D,E, A
B,C,DE A

According to Appellate System, a person - - 86.

dissatisfied with the verdict given by the
Court of the District Judge could appeal
to which of the following courts ?

(1) Supreme Court

2) High Court

Trial Court

They 85.

s A and B on 87.

X
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(1) B,D,E,C,A (2) C.,B,D,E, A
3) A,B,D,C.E 4 B,C.D.E. A
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89.

Read the statement given below :

“The Indian State has many checks
and balances to prevent the misuse of
powers.”

Choose the correct option t!nat
represents the meaning of ‘Indian
State’ in the above statement.

(1) The Indian Bureaucracy

(2) Any State Government

(3) The Indian Political System

(4) The Indian Central Government

Which of the following should the
teaching of History focus upon ?
A. Concepts - of
" representations and building a
sense of historical diversity.

plural

B. Encouraging students to
_imagine living in the past and
relate to the experiences.
(1) OnlyB
(2) BothAandB
(3) Neither A nor B
4 OnlyA

Two of the statements given below are
false. Identify these statements.
A.  Natural and physical basis of
: scientific inquiry can be used in
Social Science also.

B. ~ The teaching of Social Science
- has the responsibility towards

(44)
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(45)

PART - IV
LANGUAGE - I

ENGLISH ' ,

IMPORTANT : Candi
if*:;gldstes should attempt questions from Part — IV (Q. No. 91-120),
y have opted for ENGLISH as LANGUAGE - T only.

pirections : Read the passage given below
and. answer the questions (91 - 99)
that follow by selecting the
correct/most appropriate options :

There’s an air of excitement on the
platform as the train’s departure time
draws close. You’ve found your name on the
passenger’s list, together with the names of

 those in the compartment with you; so you
already know your ‘fellow passengers’
names, ages, sex and destination. People are

pushing past you to get on, as you show your

coupon to the conductor and he tells you to
board. ;

Your fellow passengers are settling in,

 staking out their claims to territory with too

- much luggage. A bell clangs but there is no

ming of carriage doors, no blowing of

istles and no shout of “All aboard !” asin

The train simply draws out of the

stroll alongside and

e, clamber on, one

- int

1 get a thrill out of the start of every train
journey. It’s not just the excitement of moving
on to a new place, there’s the anticipation of -
what’s going to happen during the journey;
the pleasure at the new acquaintances I'm
going to make; the dissolving of city skyline
o lush, rural landscape beyond the
windows; and the heightened emotions of
everyone on board. Indians love to travel by
train; they are used to it and prepare properly
so it becomes a picnic on wheels. I get excited
when I am part of it, you will too.

91. Which of the following statements is
NOT TRUE?

(1) Hef/she loves to make friends.

(2) He/she does not enjoy a picnic' in
the train.

" (3) He/she is thrilled at the scene
outside.

(4) The narrator enjoys going to a
new place. :

does the word ‘Coupon’ here

-"J:E']IW_ e -




93,

94.

95,

The phrase, ‘draws out’ as used here

means :

(1)  moves out'
(2) hurries oﬁt
(3)  breaks away
(4) ~ clears out

Which part of speech is the underlined
word in the following sentence ?

People are pushing past you.

1) Adverb

(2)  Adjective
(3)  Verb

(4)  Preposition

Which part of the following sentence
has an error in it ?

“Once you have made this decisio

(a) |

(46)
96.
97,
98,

[EEE

.Ei'

(D

You are well informed about y,,
fellow passengers :

(1) after you have been introduceq to
them. :

(2) after you have interacted With
them.

(3) When you have settled in your
seats.

(4)  even before you have entered the

compartment,

Who stake a claim to territory in the
compartment ?

(I) Those whose seats are already
occupied.
(2) Those who don’t travel light.
* (3) Those who haven’t reserved seats,
-(4)  Those who need more space in it.

Even afte_r the train has started

moving why do some people stroll
alongside ?

They want to enjoy the outside
scene.
{2)  They enjoy getting into a moving
L6 trdifey i :
(3)  The doors are still open.
(4)  They reached the platform late.

N prevent

Yyou from enjoying

Py
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pirections : Read the extract givey below il

and answer the questions (100 — 105)
by selecting the

; correct/most
appropriate options : ,

' he work of hunters is another thing :
I have come after them and made repair
~ Where they have left not one stone on a stone,
But they' would have the rabbit out of hiding,
To please the yelping dogs. The gaps I mean, 5
: No one has seen them made or heard them made,
~ But at spring mending-time we find tilem there.
1 let my pgi_ghbour know beyond the hill;
And on a day we meet to walk the ling .

~ And set the wall between us once again. 10

We keep the wall between us as we go.

I; To each the boulders tha_i: have fallen to each.

'And some are loaves and some so nearly balls =
ve to use a -Spell to make them balance :

b y,ouare until our backs-arg,t.umed r 15

e
[] )

oo o 3

A b .

102.

103.

- 104.

The figure of speech used in the linesx
9.10is:

(1) Metaphor

(2) Simile

(3) ° Irony.

“) | Personification -

Identify the figure of speech used in

the expression :

‘And some are loaves and some SO

nearly balls’

(1) Metaphor
(2) Personification
(3) Irony.

Simile

4)

The hunters’ main aim is :
1) to pleése their dogs.
R
3)

to catch the rabbits.

to make the neighbours build the
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Answer the following questions (Q Nos. .106
to 120) by selecting the most appropriate
option out of the given options.

106. Many minor and tribal languages are
not available in school curriculum and
the number of speakers is receding in
those languages. What is this known
as in socio educational linguistics ?

(1) Language minority in education
(2) Language endangerment

(3) Language revival |

(4) Language death

107. A teacher asks her learners to find
words and word chunks relhting to
different themes based on the reading
lesson. Learners in groups have to
-make word charts of the same
category. What is this strategy known
as ? 4
(1) Word collocations
(2) Communicative language teaching
(3) A writing project
4 Thematic language teaching

108. A student reads through an article in
a newspaper to get the overall idea of
the article. What is this (practice)
known as ?

(1) Skimming
- (2) Top-down

P-II
110. Language is _

(1)  a structure formed system

(2) a formation of words, rules and
meanings

(3) a human system which changes
frequently

(4)  arule governed system

111. ‘Comprehensible input’ as proposed
by Krashen (1985) is
(1) exposing learners to language
somewhat above their level.
(2) exposing learners to language
below their level so that they can

comprehend.

(3) enabling learners to read in many
languages.

(4) enabling learners to comprehend
ideas. :

112. Extensive reading is
(1)  reading for facts.
(2)  reading to write.
(3) reading for pleasure and overall
understanding of the text.
(4) reading in detail every word and
idea for deep understanding,

113. A teacher keeps the students’ work of
language use and uses it for assessing
the learners’ achievement. What is
this strategy for assessment known as ?
(1)  Diagnostic test
(2) CCE
3) Summatiye assessment
(4)  Portfolio assessment

114. A teacher brought real life objects like
a hammer, a screw driver and so on to
her class. She asked her learners to

- describe the objects

| S. W
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116.

Mother tongue based multilin
advocates that Eotlam

(1) learners begin their schooling in
mother tongue and move on to
add many (at least two) languages
in school. |

learners begin with their state
language and more on to English
medium.

@

learners learn their mother tongue,
. Hindi and English from Class-I.

3

all learners learn in mother tongue
only in primary school.

@

Which of the following statements are
true of teaching of grammar ?

A. Teaching of rules at the initial
stage does mot lend much to
language learning.

Rules of grammar are essential

B.
during the formative years of
language learning.

C. Grammar teaching should move
from meaning to form.

D. Grammar teaching should move

* from form to meaning.
Statements C and B are frue-

(49)

118.

119.
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X

teacher along with her learners

A
writes the names of objects in the
plack board,

classroom (like door,

windows etc) in their mother tongue
and in English on pieces of paper and
pastes them on the objects for learners
to notice the words. What is the

teacher trying to do ?
The teacher is creating a (print)

6y
language rich environment in the
classroom.

2) The teacher is trying to teach
letters of alphabet.

(3) The teacher is creating a situation
for the students 0 learn the

: spelling.of the words.

(4) The teacher wants her learners to
write well.

This is assumed to be 2a major

difference between language

acquisition and learning.
(1) Language acquisition happens at .
an early stage while language
Jearning takes place later.
Language acquisition  always
happens in mother tongue and
language learning happens in the
- second language.
Language acquisition is meaning
formation and language learning
" is making meaning. :
@ L  acquisition is natural
' ' lea ing is

()

®

ot
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PART -V
LANGUAGE - 11
ENGLISH |
IMPORTANT : Candidates should attempt questions from Part — vV Q. Nlo. 121-150),
- if they have opted for ENGLISH as LANGUAGE - 1II only.
Directions : Read the passage given below 121. Why do you not very much care for it
;nd m;i‘l‘;ec:ixtlge qutehs:“-’“scglrﬁc;hzgz when you receive a shirt or a kurta as
y .
appropriate options : a gift ?
: You already have so many of
The other day I received an unusual @ ho 4
and very gratifying gift : I was given a them.
tree. Or rather, I was given half-a-dozen (2) You don’t like the colour.
trees, which would be planted on my : , :
behalf. T had been invited to give a talk to (3) You were not asked about your
an organisation. After such events, the | choice.
speaker is usually given a token gift. @) The giver had to spend a lot of

Sometimes the gift is that of a pen, or :
money.

something useful. Often, the gift is in the .
form of a plaque or similar commemorative 122. The word ‘gratifying’ means
token. However well-meant, such gifts are b _ g. Nk
‘destined to gather dust in forgotten (1) - satisfying

corners. Which is why I was agreeably 2) giving

surprised to be given a scroll which

attested that, in a designated plantation (3) fortifying .

established for the purpose, six tress 4) annoying

~ would be added in my name, as part of
‘green’ movement being sponsored by the

organization. o
g In an increasingly environmentally- l_il'-.lil 123. The word “destined’ means :
cious world, the gift of a living tree or " (1) decided
‘ nt makes for a perfect present. The o L ¥
dition of giving and receiving gifts has (&) declined
‘inci ~ become a highly evolved (3) departed

m .ﬁ-qm ’f.,estivals @) fated

124. Name the part of speech of the

&  underlined word in the - following
- 2 .y ] TR J
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125 Identify the part of the following

sentence which has an error in it,
Your claim ought

(a)
to succeed in that case
(b)
the damages
(©)
will be substantial |
(d
n o
@ ©
3 @
@ @

126. The writer was thrilled when he was

given

(1)  six trees
(2) aplaque
(3) apen
(4) atree

127. What usually happens to the gifts

he/she receives ?
(1) He gives them away as gifts to
. others.

 (2) They are put away and forgotten.
@) He them religiously as

(55)

o

X

Directions : Read the passage given below
and answer the questions (129 - 135)

by selecting the correct/most

appropriate options :

With more then 3,000 languages
currently spoken, English undoubtedly is
amongst the richest of all languages. The
Oxford English Dictionary lists about half a
million words of which only 2,00,000" are
frequently used. This is because, the balance
3,00,000 words are technical and not found
in ordinary dictionaries. The only language
that can come near English is Chinese.

Apart from being the richest
language, English also boasts of being one of
the most widely spoken, second only to
Mandarin Chinese. This remarkable
achievement is only because of the one thing
that we all love to do — copy ! ‘Siesta’ for
example is of Spanish origin. ‘Sputnik’ as
you must be aware of, has a Russian origin.
‘Restaurant’ is from France and ‘Super’
from Germany. Even before the birth of the
‘genius’ of ‘drama’, William Shakespeare,
the words ‘genius’ and ‘drama’ were
adapted from Greek. Now, you must be
wondering if English has anything original
about it. Well, find it out ! Did you ever try
to find out how many different words of
English we use in our daily life ? Try to
guess and then read on. A modern novelist
has a vocabulary of anywhere between ten
to fifteen thousand words.

William Shakespeare used thirty
thousand words and the only writer to come
close to him was James Joyce in “Ulysses’.
We normally have a vocabulary of about ten
hich only five thousand
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129.

130.

131.

SN )
e

[

How many words are usually used by

an English speaking person 2
(1) 5,000

(2) 10,000

3 15,000

4) 3,000

Which of the following words is most
often used in English language ?

(1) the ‘
2) is
(3) one

4) a

The word that is similar in meaning to

the word, ‘remarkable’ is :
(1) remedial
remaining

optional

(56)

133.

134.

135.

: . P'II
Which part of speech is the underlieg
word in the following sentence ?

Did you ever try to find out ?

(1) Adjective |
2) | Pronouh
(3) Verb

4) Adverb

English is the most widely used

language in the world because :

(1) - itisthe richest language.

(2) it has taken‘ words from other
languages.

3) it has half a million words in it."

C)) Sl;akespéare has ‘written in

English.

In our everyday conversation we use 8

limited number of words because :

not a genius lik®
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Answer the following questions (Q. Nos. 136

optio

136.

137.

A teacher gives a puzzle to her class.
VIII students and asks them to solve it
py speaking out how they solve it.
What is this s_tl"ategy known as ?

(1) Think aloud protocol

(2) Listening

3 Picture reading

(4) Speaking aloud

Sanskrit in India today is a

(1) Modern Indian ianguage and a
classical language

(2) Religious language

(3) Hindu language

(4) Modern Indian language

A teacher of Class-VII asked her
students to read a short story and
come to the class. She asks them to

discuss the major points of the story in

yups and present them to the whole
. What is this reading known 85 ?

57

@

141.

X

140. Bottom-up processing in listening is to

decode the overall messages of the
discourse and move down the
micro level units.

encode all the
speaker to listener.
use multiple ways to decode the
messages.

decode messages moving from
sounds to words, phrases, clauses
and other grammatical elements to
sentences.

(D

sounds from

)

3

What is the following strategy known
as in reading ?

The text is read more slowly and in
detail to get the gist or overall sense of
the text.

(1) Summarising
(2) Skimming
(3) Scaffolding
(4) Scanning

A teacher asks her learners of class-VII
to refer to the textbook of History and
find a theme which can be connected
with English language text for writing
an essay. \

What is this practice known as ?

(1) Language across the curriculum
(2) Language in learning

(3) Language and history integrated
learning - '

and Social Science

e

. N r L,-:
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144,

145'

@) Assignment

Match the types of writing with their

corresponding category

a. Personal i.  Letter of
writing complaint

b. Study writing ii. Diary writing

c. Creative iii. Synopsis
writing writing

d. Public iv. Travelogue
writing

a b G d

(6 RS S | GRS | 1

@) o die ol i iv

Ty a0y

@ i i gitifd eiV,

A teacher divides hervclass into groups
of five and allocates different themes

. to the groups. The groups have to

collect information on the themes and
write reports to be presented to the
class. What is this activity known as ?

(1) Project work
(2) Writing work
(3) Research

(58)

%

147. Continuous Assessment focuses op

148.

Py

(1) Informal assessment

(2) Informal and a combinatioy of
both formative and summatiye

(3) Outcome and achievement baseq
assessment

(4) Formal assessment

‘Pre-reading’ activity in class is to

(1) connect learners’ with ope
another.

(2) enable learners to know about the
story which they would read
ahead. ‘

(3) All of these -

(4) connect learner’s  previous
knowledge with what she leams in
the reading text.

149. Pedagoglcal Grammar is

(1)  grammar for teachers

(2) grammar in context to conne!
grammar points with real life
context

(3) - grammar with formal rules to %
applied while writing
grammar of pedagogy

“@

Y Lol
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